IECSRGBU6 triangle lightnesst*

o Yoc=Yw  nc=100,

*1EcsRaBUB=50 (Y/Y) 2 4(Y,=18, ¥,/1002Y<=Y, )
t*(3.6)=26 1% ,(18)=50,t* ,,(90)=98

application
range

Yn=3.6  Yy=90

IECSRGBuU6
tristimulus value difference

Yoc=Yw nc=100,
t*1EcsraBus=50 (V/Y) M2 4(Y,=18, Y,/ 100<Y<=Y,0)
log(dY) = (1/2,4) 10g[2,4¢,/50)] + [1-(1/2,4)] log¥)

s

application
range

1
Y,=18
1Yy=90

log (AY/Y) IECSRGBU6
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
t*lEcsraBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)

~
v, —
- =&, application

=50, d¥,=4,80 dY,/Y,=C,2%6uC 1 *.4ange
1

'v,=18
1 Yw=90

log (Y/AY)
C,=(Y/AY)

IECSRGBuU6

tristimulus value contrast
Yoc=Yw - nc=100,

¥ IEcsraBus=50 (V1Y) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y/50)] + (1/2,4) logy)

t*,=50, dY,=4,8Q Y,/dY.~5
10g(Y/dY)=0,57 :

application
range

Y,=18
Yw=90

Yn=3.6

ter IECSRGBUG relative triangle lightnesst*/t*,
e, Yoc=Yw - nc=100,

t*1EcsreBuB=50 (Y/Yy) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
t*(3,6)=26 1+ ,(18)=50,*,,,(90)=98

application
range

Y,=18
Yy=90

-
t/t* J=1, m=-0,29
L*,=49, t*, =50

Yn=3.6

log(AY/AY,)
AYIAY,

IECSRGBuU6 relative
tristimulus value difference

Yne=Yw nc=100,
t*1EcsreBuB=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,4)] log¥/Y,,)

;
t*,=50, dY,,=4,80 dY,/Y,=0,2666 , ¢*
o

log[(dY)(dY),]=0, m=0,58  ¢#s

- 1 application
- 1 range
/ 1y,=18
R =)

log [(AY/Y) I (AYIY)] IECSRGBUG relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
t*1EcsroBuB=50 (Y/Yy) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
log[(dY/M(AYY),] = - (1/2,4) log¥/Y,,)

application

log[(dY/YY(dY/Y),]J=0, m= 0.4

t*,=50, dY,=4,80 dY,/Y,,=0,2666 }

1y =18
Yy=90

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBU6 relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY), v, 2y, =100,

nc_l
t*1EcsreBuB=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

1 application
1 range

1y =18
Yw=90




